
MATHS

BOOKS - FULL MARKS MATHS (TAMIL

ENGLISH)

REAL NUMBERS

Thinking Corner

1. Which one of the following is false 

(a) The square root of 9 is 3 or -3. 

(b)  
√9 = 3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_r6LFjzNczCmO


(c)  


(d) 

Watch Video Solution

−√9 = − 3

√9 = ± 3

2. Write two numbers in scientific notatation

whose product is 2.83104.

Watch Video Solution

3. Write two numbers in scientific notatation

whose quotient is 2.83104.

Watch Video Solution

https://dl.doubtnut.com/l/_r6LFjzNczCmO
https://dl.doubtnut.com/l/_aUvlAx94Kfll
https://dl.doubtnut.com/l/_fVtQj7cXOC0q


Progrees Check

Exercise 2 1

Watch Video Solution

1. Identify a rationallising factor for each one of

the following surds and verify the same in each

case: 

(i)  (ii)  (iii)  (iv) 

Watch Video Solution

√18 5√12 3√49
1

√8

https://dl.doubtnut.com/l/_fVtQj7cXOC0q
https://dl.doubtnut.com/l/_E8Dohxw20Kv3
https://dl.doubtnut.com/l/_52W7oEUNGbNl


1. Which arrow best shows the position of  on

the number line ?

Watch Video Solution

11

3

2. Find any three rational numbers between 

and 

Watch Video Solution

−7
11

2

11

3. Find any five rational numbers between  and 
1

4
1

5

https://dl.doubtnut.com/l/_52W7oEUNGbNl
https://dl.doubtnut.com/l/_YoWJsJqTlNtS
https://dl.doubtnut.com/l/_EjLvmZSkrdnX


Exercise 2 2

Watch Video Solution

1. Express the following rational numbers into

decimal and state the kind of decimal expansion. 

A. 

B. 

C. 

D. 

2

7

2

7

−5
3

11

22

3

327
200

https://dl.doubtnut.com/l/_EjLvmZSkrdnX
https://dl.doubtnut.com/l/_0xzUtVN4J7bv


Answer:

Watch Video Solution

2. Express  in decimal form . Find the length of

the period of decimals .

Watch Video Solution

1

13

3. Express the rational number  in recurring

decimal form by using the recurring decimal

1

33

https://dl.doubtnut.com/l/_0xzUtVN4J7bv
https://dl.doubtnut.com/l/_ZCY3ru2CZQGT
https://dl.doubtnut.com/l/_D3Ajx8nJvNBF


expansion of . Hence write  in recurring

decimal form.

Watch Video Solution

1

11
71
33

4. Express the following decimal expression into

rational numbers. 

Watch Video Solution

0. ¯̄̄¯24

5. Without actual division , find which of the

following rational numbers have terminating

https://dl.doubtnut.com/l/_D3Ajx8nJvNBF
https://dl.doubtnut.com/l/_igZHZ6hhU4Tc
https://dl.doubtnut.com/l/_iKkMrYAMPpwU


Exercise 2 3

decimal expansion. 

Watch Video Solution

7
128

1. Represent the following irrational numbers on

the number line. 

Watch Video Solution

√3

https://dl.doubtnut.com/l/_iKkMrYAMPpwU
https://dl.doubtnut.com/l/_LcnDtAsBrqUC
https://dl.doubtnut.com/l/_soZXF17en4Nu


Exercise 2 4

2. Find any two irrational number between  and

Watch Video Solution

6

7
12

13

3. Find any two rational numbers between

2.2360679…..and 2.236505500….

Watch Video Solution

https://dl.doubtnut.com/l/_soZXF17en4Nu
https://dl.doubtnut.com/l/_cN3oG5roy43O


Exercise 2 5

1. Represent the following numbers on the

number line. 

5.348

Watch Video Solution

1. Write the following in the form of : 


(i) 625 (ii)  (iii)  (iv) 

Watch Video Solution

5n

1

5
√5 √125

https://dl.doubtnut.com/l/_uzXHnsZ5FFM1
https://dl.doubtnut.com/l/_oTXhGBMAAnNn


2. Write the following in the form of : 


(i) 16 (ii) 8 (iii) 32

Watch Video Solution

4n

3. Find the value of 

Watch Video Solution

(49)
1
2

4. Use a fractional index to write : 

Watch Video Solution

√5

https://dl.doubtnut.com/l/_sJHKW006LHqZ
https://dl.doubtnut.com/l/_FcPrA3dJn3om
https://dl.doubtnut.com/l/_X8fGUynI25FD


Exercise 2 6

5. Find the  root of 32

Watch Video Solution

5th

1. Simplify the following using addition and

subtraction properties of surds : 

Watch Video Solution

4 3√5 + 2 3√5 − 3 3√5

https://dl.doubtnut.com/l/_NfFymX9zooMw
https://dl.doubtnut.com/l/_vEsGHMuNp6X0


2. Simplify the following using multiplication and

division properties of surds : 

Watch Video Solution

3√27 × 3√8 × 3√125

3. If

, then find the values of the following correct to 3

places of decimals . 

Watch Video Solution

√2 = 1.414, √3 = 1.732, √5 = 2.236, √10 = 3.162

√40 − √20

https://dl.doubtnut.com/l/_ogFjaSy6E1ux
https://dl.doubtnut.com/l/_wJnCghH94hfR


4. Arrange surds in descending order : 

Watch Video Solution

3√5, 9√4, 6√3

5. Can you get a pure surd when you find: 

(i) the sum of two surds 

(ii) the difference of two surds 

(iii) the product of two surds 

(iv) the quotient of two surds 

Justify each answer with an example

https://dl.doubtnut.com/l/_wJnCghH94hfR
https://dl.doubtnut.com/l/_8AXjZdtn07Et
https://dl.doubtnut.com/l/_OjFw1wbjjfVe


Exercise 2 7

Watch Video Solution

6. Can you get a pure surd when you find the

quotient of two surds 

Justify each answer with an example

Watch Video Solution

1. Rationalise the denominator 

1

√50

https://dl.doubtnut.com/l/_OjFw1wbjjfVe
https://dl.doubtnut.com/l/_KdWwRRJes36P
https://dl.doubtnut.com/l/_u67lUCWcLnDP


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

√50

5

3√5

√75

√18

3√5

√6

2. Rationalise the denominator and simplify 

Watch Video Solution

√48 + √32

√27 − √18

https://dl.doubtnut.com/l/_u67lUCWcLnDP
https://dl.doubtnut.com/l/_fhphcimZFTPu


3. Find the value of a and b if

Watch Video Solution

= a√7 + b
√7 − 2

√7 + 2

4. If  , then find the value of 

Watch Video Solution

x = √5 + 2 x2 +
1

x2

https://dl.doubtnut.com/l/_fhphcimZFTPu
https://dl.doubtnut.com/l/_lYlNltMuQZwd
https://dl.doubtnut.com/l/_ErSjJamODNVd


Exercise 2 8

5. Given =1.414, find the value of  ( to

3 places of decimals ).

Watch Video Solution

√2
8 − 5√2

3 − 2√2

1. Represent the following numbers in the

scientific notation : 

569430000000

Watch Video Solution

https://dl.doubtnut.com/l/_2EYsjcYOKXaB
https://dl.doubtnut.com/l/_c5s8OvMDo061


2. Write the following numbers in decimal form : 

Watch Video Solution

3.459 × 106

3. Write the following numbers in decimal

notation : 

Watch Video Solution

{(0.00003)6 × (0.00005)4} + {(0.009)3 × (0.05)2}

https://dl.doubtnut.com/l/_WjfI7EFP7LT9
https://dl.doubtnut.com/l/_KnTN6la8D97L


4. Represent the following information in

scientific notation : 

The world population is nearly 7000,000,000.

Watch Video Solution

5. Simplify: 

(i)  (ii) 

 


(iii)  (iv) 

Watch Video Solution

(2.75 × 107) + (1.23 × 108)

(1.598 × 1017) − (4.58 × 1015)

(1.02 × 1010) × (1.20 × 10− 3)

(8.41 × 104) ÷ (4.3 × 105)

https://dl.doubtnut.com/l/_3pduJrRAajGJ
https://dl.doubtnut.com/l/_l2Y2Hss0MR2O


Exercise 2 9

1. If n is a natural number then  is

A. always a natural number

B. always an irrational number

C. always a rational number

D. may be rational or irrational

Answer: D

Watch Video Solution

√n

https://dl.doubtnut.com/l/_l2Y2Hss0MR2O
https://dl.doubtnut.com/l/_f2Rjwr6oI0wm


2. Which of the following is not true ?

A. Every rational number is a real number

B. Every integer is a rational number

C. Every real number is an irrational number

D. Every natural number is a whole number

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_f2Rjwr6oI0wm
https://dl.doubtnut.com/l/_09KnQDckQHv0


3. Which one of the following , regarding sum of

two irrational number , is true ?

A. always a irrational number

B. may be a rational or irrational number

C. always a rational number

D. always an integer

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xg3PnzpDUrSl


4. Which one of the following has a terminating

decimal expansion ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5

64

8

9

14
15

1

12

https://dl.doubtnut.com/l/_iNieX3fve7Re


5. Which one of the following is an irrational

number ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√25

√
9

4

7
11

π

https://dl.doubtnut.com/l/_o1PDazA419Wd


6. An irrational number between 2 and 2.5 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√11

√5

√2.5

√8

https://dl.doubtnut.com/l/_9BWwiF45QQ2w


7. The smallest rational number by which 

should be multiplied so that its decimal

expansion terminates after one place of decimal

is

A. 

B. 

C. 3

D. 30

Answer: B

Watch Video Solution

1

3

1

10

3

10

https://dl.doubtnut.com/l/_NCCk2vdHTHjg


8. if  then the value of  is

A. 

B. 

C. 

D. 0.714285

Answer: B

Watch Video Solution

= 0. ¯̄¯̄¯̄¯̄¯̄¯̄142857
1

7

5

7

0. ¯̄¯̄¯̄¯̄¯̄¯̄142857

0. ¯̄¯̄¯̄¯̄¯̄¯̄714285

0. ¯̄¯̄¯̄¯̄¯̄¯̄571428

https://dl.doubtnut.com/l/_NCCk2vdHTHjg
https://dl.doubtnut.com/l/_EjaxFJEcm8l5


9. Find the odd one out of the following

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√32 × √2

√27

√3

√72 × √8

√54

√18

10. 0. ¯̄̄¯34 + 0.34̄ =

https://dl.doubtnut.com/l/_Mr4qCenaUcGf
https://dl.doubtnut.com/l/_LPRxUcbcZ6uI


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.687̄

0. ¯̄̄¯68

0.68̄

0.687̄

11. Solve 

Watch Video Solution

5x– 2x + 15 = 27

https://dl.doubtnut.com/l/_LPRxUcbcZ6uI
https://dl.doubtnut.com/l/_LWQgJPFjfwOe
https://dl.doubtnut.com/l/_BNwIDVTAigPJ


12. Which one of the following is not a rational

number ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√
8

18

7
3

√0.01

√13

https://dl.doubtnut.com/l/_BNwIDVTAigPJ


13. =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√27 + √12

√39

5√6

5√3

3√5

14. If  then k=√80 = k√5

https://dl.doubtnut.com/l/_fPeeOJXY0tXI
https://dl.doubtnut.com/l/_PIpXGdxAF9gL


A. 2

B. 4

C. 8

D. 16

Answer: B

Watch Video Solution

15. 

A. 

4√7 × 2√3 = ............

6√10

https://dl.doubtnut.com/l/_PIpXGdxAF9gL
https://dl.doubtnut.com/l/_pa3kDykRu5LD


B. 

C. 

D. 

Answer: B

Watch Video Solution

8√21

8√10

6√21

16. When written with a rational denominator, the

expression  can be simplified as

A. 

2√3

3√2

√2

3

https://dl.doubtnut.com/l/_pa3kDykRu5LD
https://dl.doubtnut.com/l/_GcXAuhTFgrSG


B. 

C. 

D. 

Answer: C

Watch Video Solution

√3

2

√6

3

2

3

17. When  is simplified , we get

A. 

B. 

(2√5 − √2)
2

4√5 + 2√2

22 − 4√10

https://dl.doubtnut.com/l/_GcXAuhTFgrSG
https://dl.doubtnut.com/l/_80sherBYwOKh


C. 

D. 

Answer: B

Watch Video Solution

8 − 4√10

2√10 − 2

18. =_____

A. 

B. 

C. 

(0.000729) × (0.09)
− 3
4

− 3
4

103

33

105

35

102

32

https://dl.doubtnut.com/l/_80sherBYwOKh
https://dl.doubtnut.com/l/_aOcwHFiShwpF


D. 

Answer: D

Watch Video Solution

106

36

19. If  then ………………

A. 

B. 

C. 

D. 

√9x =
3√92 x =

2

3

4
3

1

3

5

3

https://dl.doubtnut.com/l/_aOcwHFiShwpF
https://dl.doubtnut.com/l/_AaShU4JJWPft


Answer: B

Watch Video Solution

20. The length of breadth of a rectangular plot

are  and  metres respectively. Its

area is _____

A. 

B. 

C. 

D. 

5 × 105 4 × 104

9 × 101m2

9 × 109m2

2 × 1010m2

20 × 1020m2

https://dl.doubtnut.com/l/_AaShU4JJWPft
https://dl.doubtnut.com/l/_VsTBIa5gR5ru


Additional Questions I Mcq

Answer: C

Watch Video Solution

1. Decimal form of  is

A. 

B. 

C. 

D. 

−3

4

−0.75

−0.50

−0.25

−0.125

https://dl.doubtnut.com/l/_VsTBIa5gR5ru
https://dl.doubtnut.com/l/_SLGEx8sGHjal


Answer: A

Watch Video Solution

2. If a number has a non-terminating and non-

recurring decimal expansion , then it is

A. a rational number

B. a natural number

C. an irrational number

D. an integer

Answer: C

https://dl.doubtnut.com/l/_SLGEx8sGHjal
https://dl.doubtnut.com/l/_kojhTv9G5FrI


Watch Video Solution

3. Which one of the following has a terminating

decimal expansion ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7
9

8

15

1

12

5

32

https://dl.doubtnut.com/l/_kojhTv9G5FrI
https://dl.doubtnut.com/l/_zIwOOIC89FAh


4. Which one of the following are irrational

numbers ? 

(i)  , (ii)  , (iii)  , (iv) 

A. (ii), (iii) and (iv)

B. (i), (ii) and (iv)

C. (i), (ii) and (iii)

D. (i), (iii) and (iv)

Answer: D

Watch Video Solution

√2 + √3 √4 + √25 3√5 + √7

√8 − 3√8

https://dl.doubtnut.com/l/_zIwOOIC89FAh
https://dl.doubtnut.com/l/_VpriGNhzgf4o


5. Irrational number has a..........

A. terminating decimal

B. no decimal part

C. non-terminating and recurring decimal

D. non-terminating and non-recurring decimal

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VpriGNhzgf4o
https://dl.doubtnut.com/l/_DUnsugKbvKE4


6. If  then the value of  is .........

A. 0.285741

B. 0.428571

C. 0.285714

D. 0.574128

Answer: B

Watch Video Solution

= 0.142857
1

7

3

7

7. Which of the following are rational numbers?

https://dl.doubtnut.com/l/_2PWiFjWORVMh
https://dl.doubtnut.com/l/_1JE0IVWqY8c7


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7√5

7

√5

√36 − 9

π + 2

8. The product of  is .........

A. 

2√5 and 6√5

12√5

https://dl.doubtnut.com/l/_1JE0IVWqY8c7
https://dl.doubtnut.com/l/_DnLuDh9zXbJJ


B. 60

C. 40

D. 

Answer: B

Watch Video Solution

8√5

9. The rational number lying between 

is .........

A. 

B. 

and
1

5

1

2

7
20

2

10

https://dl.doubtnut.com/l/_DnLuDh9zXbJJ
https://dl.doubtnut.com/l/_MNpdIcy5iZQ9


C. 

D. 

Answer: A

Watch Video Solution

2

7

3

10

10. The value of  is .......

A. 

B. 

C. 

0. ¯̄̄¯03 + 0. ¯̄̄¯03

0. ¯̄̄¯09

0. ¯̄¯̄̄ ¯̄¯0303

0. ¯̄̄¯06

https://dl.doubtnut.com/l/_MNpdIcy5iZQ9
https://dl.doubtnut.com/l/_BVqmno7zE1LH


D. 0

Answer: C

Watch Video Solution

11. The sum of  is ......

A. 

B. 

C. 

D. 

√343 + √567

18√3

16√7

15√3

14√7

https://dl.doubtnut.com/l/_BVqmno7zE1LH
https://dl.doubtnut.com/l/_1ddundtszq2J


Answer: B

Watch Video Solution

12. If  then x=.......

A. 8

B. 9

C. 10

D. 11

Answer: D

W t h Vid S l ti

√363 = x√3

https://dl.doubtnut.com/l/_1ddundtszq2J
https://dl.doubtnut.com/l/_ys6lVcF4Sv2z


Watch Video Solution

13. The rationalising factor of  is ........

A. 7

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

√7

√7

1

7

1

√7

https://dl.doubtnut.com/l/_ys6lVcF4Sv2z
https://dl.doubtnut.com/l/_iN9s3U4VP1WQ
https://dl.doubtnut.com/l/_q88z7tnzNgCG


14. The value of  is .........

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( )
41

35

320

3− 20

1

3− 20

1

39

15. What is  written form?3.9676 × 10− 4

https://dl.doubtnut.com/l/_q88z7tnzNgCG
https://dl.doubtnut.com/l/_f0up2aYoG4xR


Additional Questions Ii Answer The Following

Questions

A. 0.003976

B. 0.0003976

C. 39760

D. 0.03976

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_f0up2aYoG4xR


1. Find any seven rational numbers between

Watch Video Solution

and −
5

8

5

6

2. Find any three rational number between

.

Watch Video Solution

and
1

2

1

5

3. Solve 

Watch Video Solution

(7y + 8) + 7 = 8

https://dl.doubtnut.com/l/_5k7t3Qvife3D
https://dl.doubtnut.com/l/_0Tu08YwBoJO8
https://dl.doubtnut.com/l/_MuDpQoo1bp7R


4. Express the following in the form  wher p

and q are integers and  

(a)  (b)  (c) 

Watch Video Solution

p

q

q ≠ 0

0. 6̄ 0.47̄ 0. ¯̄̄ ¯̄¯001

5. Without actual division, classify the decimal

expansion of the following numbers as

terminating or non-terminating and recurring 

(i)  (ii)  (iii)  (iv) 

Watch Video Solution

7
1

13

150
−

11

15

17

200

https://dl.doubtnut.com/l/_MuDpQoo1bp7R
https://dl.doubtnut.com/l/_s9Ll1BP1OWRa
https://dl.doubtnut.com/l/_mQD8wj3t5we4


6. Find the value of 

Watch Video Solution

√27 + √75 − √108 + √48

7. Evaluate: 

Watch Video Solution

√2 + 1

√2 − 1

8. Represent  In scientific

notation.

(0.003)
7

× (0.0002)
5

(0.001)3

https://dl.doubtnut.com/l/_mQD8wj3t5we4
https://dl.doubtnut.com/l/_s67kIunws6Hf
https://dl.doubtnut.com/l/_9fPH3J10xmaI
https://dl.doubtnut.com/l/_dOQlQpQllJNM


Assignment I Choose The Correct Options

Watch Video Solution

9. Write (a)

in decimal form.

Watch Video Solution

9.87 × 109, (b)4.134 × 10− 4 and (c)1.432 × 10− 9

1. The rationalising factor  is .....
5

√7

https://dl.doubtnut.com/l/_dOQlQpQllJNM
https://dl.doubtnut.com/l/_LRMquve1UEmX
https://dl.doubtnut.com/l/_kXmoqCCjFt4H


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

√7

√7

3√7

1

√7

2. The simplest form of  is .....

A. 

√288

3√32

https://dl.doubtnut.com/l/_kXmoqCCjFt4H
https://dl.doubtnut.com/l/_5bJiU7HSMGRn


B. 

C. 

D. 

Answer: C

Watch Video Solution

14√2

12√2

7√2

3. If  then the value of a and b are

resepectively .........

A. 2,0

B. 0,2

a + b√5 = 2

https://dl.doubtnut.com/l/_5bJiU7HSMGRn
https://dl.doubtnut.com/l/_FsneQ6tWmBnK


C. 

D. 

Answer: B

Watch Video Solution

2, √5

0, √5

4. The scientific notation of 923.4 is .......

A. 

B. 

C. 

9.234 × 10− 2

9.234 × 102

9.234 × 103

https://dl.doubtnut.com/l/_FsneQ6tWmBnK
https://dl.doubtnut.com/l/_VlAP4UFfhy4d


D. 

Answer:

Watch Video Solution

9.234 × 10− 3

5. The decimal form of  is

A. 0.03506

B. 0.003506

C. 35.06

D. 350.6

3.506 × 10− 2

https://dl.doubtnut.com/l/_VlAP4UFfhy4d
https://dl.doubtnut.com/l/_QoTWUOGIABtX


Assignment Ii Fill In The Blanks

Answer: C

Watch Video Solution

1. The value of  is ..........

Watch Video Solution

3√3 + √3

2. The value of  is .........

Watch Video Solution

[(√x)
3
]

2
3

https://dl.doubtnut.com/l/_QoTWUOGIABtX
https://dl.doubtnut.com/l/_Eks4EgyX2CQI
https://dl.doubtnut.com/l/_Ki9mLHRb5LIU


3. If , then the value of  is .........

Watch Video Solution

√10 = 3.1622
1

√10

4. The rational number equivalent of  such that

its numberator is 25 is

Watch Video Solution

5

9

5. Divide  the result is............

Watch Video Solution

15√12  by 3√3

https://dl.doubtnut.com/l/_Ki9mLHRb5LIU
https://dl.doubtnut.com/l/_pG0OVakFQPqh
https://dl.doubtnut.com/l/_8iV8V6fyXfdx
https://dl.doubtnut.com/l/_CuKodZgrGjxm


Assignment Iii Answer The Following Questions

Watch Video Solution

1. You know that . Can you predict

what the decimal expansion of 

are without actually doing the long division. If so,

how

Watch Video Solution

= 0. ¯̄¯̄¯̄¯̄¯̄¯̄142857
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5
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7

2. Express the following in the form  wher p

and q are integers and  

p

q

q ≠ 0

https://dl.doubtnut.com/l/_CuKodZgrGjxm
https://dl.doubtnut.com/l/_GVju4wUvPFBw
https://dl.doubtnut.com/l/_0kDSE3VShDIl


(a)  (b)  (c) 

Watch Video Solution

0. 6̄ 0.47̄ 0. ¯̄̄ ¯̄¯001

3. Find three different irrational numbers

between the rational numbers .

Watch Video Solution

and
5

7

9

11

4. Visualize  on the number line upto 4

decimal places.

Watch Video Solution

4. ¯̄̄¯26

https://dl.doubtnut.com/l/_0kDSE3VShDIl
https://dl.doubtnut.com/l/_YYh9da3btaTd
https://dl.doubtnut.com/l/_D7Ujmfcwxh1W


5. Represent  on a number line.

Watch Video Solution

√8.5

6. Simplify the express 

Watch Video Solution

(3 + √3)(2 + √2)

7. Rationalise the denominator of 

Watch Video Solution

1

√5 + √2

https://dl.doubtnut.com/l/_ZoELLNce0NHI
https://dl.doubtnut.com/l/_EU7tTOeynxCC
https://dl.doubtnut.com/l/_XdwswuYELIkI
https://dl.doubtnut.com/l/_vYdvgX62h8ba


8. Find the sum of

Watch Video Solution

(3√3 + 7√2) and (√3 − 5√2)

9. The wavelength of ultra violet rays is 0.000042

cm. Convert the above length in scientific

notation.

Watch Video Solution

https://dl.doubtnut.com/l/_vYdvgX62h8ba
https://dl.doubtnut.com/l/_JbDqVahKmRfa


10. Simplify  and

find the value also.

Watch Video Solution

√242 + √288 + √200 − √338

11. Find the value of

Watch Video Solution

x2 +  when x = 4 + √15
1

x2

12. If  are rational numbers and 

, find the value of 

nan and nbn

= − a + b√5
3 + √5

3 − √5

https://dl.doubtnut.com/l/_1sA7NIjIalm3
https://dl.doubtnut.com/l/_3qk12HGwfarG
https://dl.doubtnut.com/l/_opwM1Z5cza98


Text Book Activity Activity I

Text Book Activity Activity 3

.

Watch Video Solution

nan and nbn

1. It is interesting to see this pattern?

 verify

it. Can you frame 4 such new surds?

Watch Video Solution

√4 = 4√ and √5 = 5√
4
15

4
15

5

24

5

24

https://dl.doubtnut.com/l/_opwM1Z5cza98
https://dl.doubtnut.com/l/_agYZ6vVIhnDC


1. The following list shows the mean distance of

the plants of the solar system from the Sun.

Complete the following table. Then arrange in

order of magnitude starting with the distance of

the planet closest to the Sun.

Watch Video Solution

https://dl.doubtnut.com/l/_j2U7TafxVImR

